

## 1 Probabilistically Buying Probability Books

Chuck will go shopping for probability books for  $K$  hours. Here,  $K$  is a random variable and is equally likely to be 1, 2, or 3. The number of books  $N$  that he buys is random and depends on how long he shops. We are told that

$$\mathbb{P}[N = n|K = k] = \begin{cases} \frac{c}{k} & \text{for } n = 1, \dots, k \\ 0 & \text{otherwise} \end{cases}$$

for some constant  $c$ .

- Compute  $c$ .
- Find the joint distribution of  $K$  and  $N$ .
- Find the marginal distribution of  $N$ .

### Solution:

- For any  $k$ , we know that probabilities conditioned on  $K = k$  must sum to 1, i.e

$$\sum_n \mathbb{P}[N = n|K = k] = 1 ,$$

so it must be that

$$1 = \sum_{n=1}^k \mathbb{P}[N = n|K = k] = k \times \frac{c}{k} = c .$$

Thus,  $c = 1$ .

- The joint distribution specifies  $\mathbb{P}[N = n \cap K = k]$  for all  $n$  and  $k$ . Note that

$$\mathbb{P}[N = n \cap K = k] = \mathbb{P}[N = n|K = k]\mathbb{P}[K = k]$$

and we know  $\mathbb{P}[N = n|K = k]$  and  $\mathbb{P}[K = k]$  (it says all  $k \in \{1, 2, 3\}$  are equally likely). We use this formula to calculate  $\mathbb{P}[N = n \cap K = k]$  for each  $n, k$  and list the result in a table:

$n \setminus k$	1	2	3
1	$\frac{1}{3}$	$\frac{1}{6}$	$\frac{1}{9}$
2	0	$\frac{1}{6}$	$\frac{1}{9}$
3	0	0	$\frac{1}{9}$

Alternatively, we can define the joint distribution as a formula with specified domain.  $\mathbb{P}[N = n, K = k] = \mathbb{P}[N = n | K = k]\mathbb{P}[K = k] = \frac{1}{k} \frac{1}{3}$  whenever it is nonzero. So,

$$\mathbb{P}[N = n, K = k] = \begin{cases} \frac{1}{3k} & k \in \{1, 2, 3\}, n \in \{1, \dots, k\} \\ 0 & \text{otherwise} \end{cases}$$

- (c) The marginal distribution of  $N$  is given by the value of  $\mathbb{P}[N = n]$ , for each possible value of  $n$ . By the total probability rule,

$$\mathbb{P}[N = n] = \mathbb{P}[N = n \cap K = 1] + \mathbb{P}[N = n \cap K = 2] + \mathbb{P}[N = n \cap K = 3] .$$

Thus, we get

$$\mathbb{P}[N = n] = \begin{cases} \frac{1}{3} + \frac{1}{6} + \frac{1}{9} & \text{if } n = 1 \\ \frac{1}{6} + \frac{1}{9} & \text{if } n = 2 \\ \frac{1}{9} & \text{if } n = 3 \end{cases} = \begin{cases} \frac{11}{18} & \text{if } n = 1 \\ \frac{5}{18} & \text{if } n = 2 \\ \frac{2}{18} & \text{if } n = 3 \end{cases}$$

## 2 Joint Distributions

- (a) Give examples of joint distribution over discrete random variables  $X$  and  $Y$  such that  $\mathbb{E}[XY] \neq \mathbb{E}[X]\mathbb{E}[Y]$ .
- (b) Give examples of joint distribution over discrete random variables  $X$  and  $Y$  such that  $\mathbb{E}[XY] = 0$ ,  $\mathbb{E}[X] = 0$ , and  $\mathbb{E}[Y] = 0$ , but  $X$  and  $Y$  are not independent.
- (c) Suppose that  $X_i$ ,  $i = 1, \dots, n$  are binary-valued random variables. How many parameters are required to parameterize the joint distribution  $\mathbb{P}(X_1 = x_1, \dots, X_n = x_n)$ ?
- (d) Continuing from the previous part, suppose that all  $X_i$ s are independent. How many parameters are required to parameterize the joint distribution?

### Solution:

- (a) Let  $P(X = 1) = \frac{1}{2}$ ,  $P(X = -1) = \frac{1}{2}$ , and  $Y \equiv X$ . Then  $\mathbb{E}[XY] = \mathbb{E}[X^2] = 1$  and  $\mathbb{E}[X]\mathbb{E}[Y] = 0$ .
- (b) An example is given by  $P(X = -1, Y = \frac{1}{3}) = P(X = 1, Y = \frac{1}{3}) = P(X = 0, Y = -\frac{2}{3}) = \frac{1}{3}$ .
- (c) There are  $2^n - 1$  parameters required. There are  $2^n$  entries in the joint distribution, but the values must sum to 1, so there are only  $2^n - 1$  free parameters.
- (d) Each random variable requires only 1 parameter, so in total only  $n$  parameters are required.

### 3 Binomial Conditioning

Let  $n \in \mathbb{Z}_+$  and  $p, q \in [0, 1]$ . Let  $X \sim \text{Binomial}(n, p)$  and suppose that conditioned on  $X = x$ ,  $Y \sim \text{Binomial}(x, q)$ . What is the unconditional distribution of  $Y$ ?

**Solution:**

$Y$  takes on values in  $\{0, \dots, n\}$ . So, let  $y \in \{0, \dots, n\}$ . We then add together all the ways in which  $Y = y$ . Note that in order for  $\mathbb{P}(X = x, Y = y) > 0$ , we need  $y \leq x$ .

$$\begin{aligned}
 \mathbb{P}(Y = y) &= \sum_{x=0}^n \mathbb{P}(X = x, Y = y) = \sum_{x=0}^n \mathbb{P}(X = x) \mathbb{P}(Y = y \mid X = x) \\
 &= \sum_{x=y}^n \mathbb{P}(X = x) \mathbb{P}(Y = y \mid X = x) = \sum_{x=y}^n \binom{n}{x} p^x (1-p)^{n-x} \binom{x}{y} q^y (1-q)^{x-y} \\
 &= \sum_{x=y}^n \frac{n!}{x!(n-x)!} \frac{x!}{y!(x-y)!} p^x (1-p)^{n-x} q^y (1-q)^{x-y} \\
 &= \frac{n!}{y!(n-y)!} (pq)^y \sum_{x=y}^n \frac{(n-y)!}{(n-x)!(x-y)!} (p(1-q))^{x-y} (1-p)^{n-x} \\
 &= \binom{n}{y} (pq)^y \sum_{x=0}^{n-y} \frac{(n-y)!}{(n-y-x)!x!} (p(1-q))^x (1-p)^{n-y-x} \\
 &= \binom{n}{y} (pq)^y \sum_{x=0}^{n-y} \binom{n-y}{x} (p(1-q))^x (1-p)^{n-y-x} \\
 &= \binom{n}{y} (pq)^y (p(1-q) + (1-p))^{n-y} = \binom{n}{y} (pq)^y (1-pq)^{n-y}.
 \end{aligned}$$

We see that  $Y \sim \text{Binomial}(n, pq)$ .

It is important to understand how we carried out the algebra here, because it is a general technique/methodology to answer these kinds of questions: get access to the joint distribution and sum together all elements in that joint distribution that satisfy the condition.

However, in hindsight, we get a very nice answer here, and there is good reason for that. We can interpret the problem as follows. Let's say there are  $n$  people lined up. Each of them will flip a coin with bias  $p$ . If they flip tails, they are out of the game, and have to sit down. Otherwise, they stay in the game, and now flip a coin with bias  $q$ . If that coin ends up tails, they have to sit down.  $X$  represents the number of people that survived the first round, and  $Y$  represents the number of people that survived the second round.

We can get access to  $Y$  directly when we observe how one person can make it to the end. They must flip heads on the first round, then heads on the second round, and the probability this happens is  $pq$ . Each person makes it to the end independently, so therefore, the number of people at the end must be binomially distributed with probability  $pq$ .